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| N of reco track vs normalized x2 | N of associated (recoToSim) tracks vs normalized x? N of associated (recoTosim) looper tracks vs normalized X
%) %) %) %)
< X X <
S o s} S
© © o o]
= = = & =
o ] 1)
4 S X =
= IS]
E 8 o
=
>
5]

10°

10
o ° MTTETNY o - AEIL TR o
T 1.05f - 3 R 3 AT R T 3
N x LT © [F]]}: COLLELLELTLEEL L E & L :
2 b q TRV ETT VT
ossE 4 i R E i T Doloiiono i
O'U 2 16 18 20 8 10 12 14 16 18 20 0 2 4 10 12 14 16 18 20 CO 2 4 6 8 10 12 14 16 18 20
track x2 track x2 track x2 track x?
Mipts =
[ Nof reco track vs. { ——— Vl n@I!TeSEess

(%] F 1%} F 2]
x o < q %
g . g g
= 10k 3 10°F s
£ E=] &
B g Be
10° 10°EH
P i
o )
3 5
o o 1




	Contents
	Page 1


